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1. §&AT 2x3x5x7x11+1 8
(a) TH AATST TE&AT

(b) UH IUH TGl TG, dfeh THh
FHST TS i U

(c) THh AW T 6 UG g, dfeh
T W9 G9 &1

(d) UF AT FE&AT 6 " 78, qfeh
s A foem @@

LEE & @ smmm gw ffafea

wfedl @ dge F@ €

(i) ¥AF TW # A G H;
A% 2160 ?

(i) W g & QM1 GEAnslt F HCF
12 %)

afe weat gw K gt @ e x
t ok T gm f st w1 odea
y &, @ x 3R y & oftma T R

(a) 60
(b) 72
(c) 75
(d) 78

LG RTFR sw E? (R g 1
log,2 = 0-301 3R log,,3 = 0-477 %)

@ 16
(b) 18
) 19
(d) 27
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4.7 n T W s §, @ afiEw

x"GE:W & gl W @y, fo-
ffmdaamard ?

@ {1, n%)

) {1,Vn}

© {1, n)

@ {n n%)

. @& wieafar-aden |, 250 @@ A

gstter (Thme) e & 1 50 9, 50
Bl 3 Mfeh & fou fom e 2,
75 QT 7 MG *F forg 3k 35 BT A
g R Atferdt 9t ¥ fog e
fFm & | 97 @@ f e feadt R
o 7 A W & R sk 7 @
wfir & fore Worex fpm @ 2

(a) 90

(b) 100

(¢} 150

(d) 160

Lafe §& 107 -1 % 3 & TRIEA,

S8l 1 CF YOI 2, 3798 % K @,
A n S AH HT % ?

(a) 421

(b) 422

(c) 423

(d) 424

Jafafea & @ a9 @ w wE,

TG 22222, 22022 22222 22222 {
qad Fgt g ?

(a) 22222

(b) 22222

(c) 222%2

(d) 22222
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1.

2.

3.

The number 2x3x5x7x11+1 is
(@) a prime number
(b) not a prime, but power of a prime

(c) not a power of a prime, but a
composite even number

(d) not a power of a prime, but a
composite odd number

Two unequal pairs of numbers satisfy
the following conditions :

(i) The product of the two numbers
in each pair is 2160

(1) The HCF of the two numbers in
each pair is 12.

If x is the mean of the numbers in the
first pair and y i1s the mean of the
numbers in the second pair, then what
is the mean of x and y?

(@) 60
(b) 72
(© 75
d 78

How many digits are there in (54)107
(Given that Jlog,,2=0-301 and
(a) 16
®) 18
(c) 19

(d) 27

4. Which one of the following is a set of

solutions of the equation Pace
if n is a positive integer ?

@ {1, »*)
®) {1 Vn}

© {1, n
d {n, n*}

. In a competitive examination, 250

students have registered. Out of these,
50 students have registered for Physics,
75 students for Mathematics and 35
students for both Mathematics and
Physics. What is the number of students
who have registered neither for Physics
nor for Mathematics ?

(a) 90
(b) 100
(c) 150
(d) 160

. If the sum of the digits of a number

10" -1, where n is a natural number,
is equal to 3798, then what is the value
of n?

(a) 421
(b) 422
(c) 423
(d) 424

7. Which one of the following is the

largest number among 22222, 22222,
22222 22222 9

(a) 22222
(b) 22222
(c) 2222
(d) 22222

A - PLKI-T-MTK
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8. Rk 0 3R 50 % 9 FWT d@EN B

10.

WG mE; 3R 503K 100F v S
el B S 1 R, A (m - n) TEEe
TR ?

(a) 4
(b) 5
(c) 6

(d) 7

|

(b)
© 3

27
@

gfe x g o7 quits 8, @ FpafaRea 3
¥ &H 9 @, ¥+ 3 + 372 7 gad
T AEFH 7

(a) 3
(b) 13
() 39

@ 117
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11.

12.

13.

14.

QR F T G, W I w
HeA-aed AR qAT T WO F TR A
¥ 9 afte ® | Al @ I K e F
FF T OEES 8, A AT TR ?
(a) 81 |

(b) 42

(c) 24

d) 18

W&aaﬂiﬁ,ﬁ‘ﬂﬁ'ﬂtﬂﬂw
X2+hk-15=0% @ W R & f&
a-f=8 %, T kF ATHE AA I
? 7 |
(@) 2

(b) 3

(c) 4

@) 5

p IR g% am w0 &, afe (x-1)
AR (x+2) TR LC+axd+pxtqg W
e aa & 2

(@ 1, -6

() 2, -6

) 1,6

@ 2,6

afe X2+5x+6 IR 2+8x+15 &
HCF x+h) 8, MskF AR T E ?
(a8 5

(b) 3

©) 2

@ 1
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8. If m is the number of prime numbers

10.

between 0 and 50; and » is the number
of prime numbers between 50 and 100,
then what is (m —n) equal to ?

(a) 4

1
4 def

()

B

3
(€ 3

27
@

Which one of the following is the
largest divisor of 3%+ 3¥1+3¥*2 if
x is any natural number?

(a) 3

(b) 13

(c) 39

(d) 117

5

11.

12.

13.

14,

A two-digit number is 9 more than
four times of the number obtained by
interchanging its digits. If the product
of digits in the two-digit number is &,
then what is the number ?

(a) 81
(b) 42
(c) 24
(d) 18
If & and S are the roots of the quadratic
equation 2 +kc—15=0 such that

a—f=28, then what is the positive
value of k7

(@) 2
®) 3
(c) 4
(d) 5
What are the values of p and ¢

respectively, if (x-1) and (x+2)
divide the polynomial x>+4x%+px+q ?

(a) 1, -6
(b) 2: -6
) 1,6
@ 2,6
If (x+k) is the HCF of x*+5x+6

and x2+8x+15, then what is the
value of &7

(@ 5
(b) 3
(c) 2
(d) 1

A - PLKI-T-MTK
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15.

16.

afe 571 -5 1= 6008, A 102 H AA
TR ?

(a 1

(b) 1000

(c) 100000

(d) 1000000

TS 6 39 WER & ¢ for gEd 12288,
28200 AR 44333 = fawifom =@ «®
s et § o S (g9m) Jwwa
THEMR | Te T T ?

(a) 272

(b) 232

) 21

17.

18.

) 120

e 2+92=6xy B, W y:x forms
R R 7
(a) 1:3
(b)y 1:2
() 2:1
(d 3:1

afe m 3R n W‘fﬁiﬁ ™ TER § 6
m"=1331%, A (m- 1) &1 wm Fq
27

(a) 1

(b) 100

(€) 121

(d) 125

PLKI-T-MTK - A

19.

20.

21.

22,

1 1

" =1 @"" -
(a) 1

(b) -1

(c) 0

@) 2am"

l,ﬁmﬁm%?

At x=+2, y=33 3R ;=6 2, @
frffa f AT or adt & 2
(a) y<x<z

b) z<x <y

(c) z<y<x

d x<y<z

afe log x=1-2500 3R y = x/ogx g, q
log y forad aRTeR ¥ ?

(a) 42500

(b) 2-5625

(c) 15625

(d) 1-2500

afe fx) F (x—a)x-p) & famfor
fFm g, et a=p R, d Swwa =@
g7

(a) (I_a)f(a)_(x_ﬁ)f(ﬂ)
a-f

o G B-G-B@
a-p

© GBS @-G-a)f(f)
a-p

(x=B)f(B)-(x-a)f(x)
a-p

(d)
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15.

16.

17.

18.

If 551 _5%-1=600, then what is the
value of 10%¥?

(a) 1

(b) 1000
(¢) 100000
(d) 1000000

A number divides 12288, 28200 and
44333 so as to leave the same
remainder in each case., What is that
number ?

(a) 272

(b) 232

(c) 221

(d) 120

If x2+9y*=6xy, then what is y:x
equal to?

(a) 1:3

b) 1:2

(c) 2:1

(d 3:1

If m and n are positive integers such

that m" = 1331, then what is the value
of (m—-1)"1 ?

(@) 1

(b) 100
(c) 121
(d 125

7

19. What 1s .

20.

21.

22.

1 1
+— . equal to ?
a —

m=n _1

(@ 1
(b) -1
() 0
(d) 2a™™"

If .x=\/§, y=;’f§ and z=%, then
which one of the following is correct ?

(a) y<x <z

(b) z<x <y

() z<y<x

d x<y<z

If logx=1-2500 and y = x°8%  then
what is logy equal to?

(a) 42500

(b) 2-5625

(¢) 15625

(d) 1-2500

If f(x) is divided by (x-a)(x- )

where a#f, then what is the
remainder ?

(x—a)f(ax)-(x-B)f(B)
a-p

(x-a)f(B)-(x-B)f(a)
a-p

(x-B)f (@)~ (x-)f (B)
Py

(x-BfB)-(x-a)f(@)
a-p

A - PLKI-T-MTK
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(b)

(c)

(d)
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23.

24.

25.

afe v i 1 SAwd
2401x% + 196x2 + 4 8, T TaR o1 N
=TS TR 7

(a) 49x2+3x+2

(b) 49x%—3x+2

(c) 49x%+2

(d) 59%2+2

e x, yz F FER T @ L, A y
foraas wfoeima: s @ & 2

(a) xz
X
b)) <
z
) I

@ 2

aft forg P oIk O we a1 W Al

et 0-73 3R 0-56 =i frefm =@
EAPROFITRighwe?

@ <

|
® 3

16

(©) 25

11

@) 90
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26.

27.

28.

Xy-gHdd 9 5x+2y=7xy3fﬂ
10x + 3y = 8xy &I
IR FA A g @ wr § 7

(@)
(b)

(c)

(d)

et g X & 99 # v o 20%
fNafg et toRagy g &
wia o 10% N 9fg et & 1 = 2010
#, TR X T 25000 W AR I
Y &1 9= ¥2000 91 | frm af # weeht
IR I HA W IR T5000 A Aftew
B m?
(a) 2012
(b) 2013
(c) 2014
(d) 2015

X dR v & i@ (F@) w1 aew
5:6%1 3R 1-2km f @ A (W)
H ¥, X® 70 m N fama (g
R, @ W # PN S ek faah
A (FR) & w7

(a) 30111@!335]3{‘?{.2'@3?[3?11%

(b) 90m &% IR Y ¥ W et &

(c) 130m F IR Y Y | Saar ®
(d) T froga el | qam gl 2
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23.

24,

25.

If the area of a square is
2401x* + 196x2 + 4, then what is its
side length ?

(a) 49x2+3x+2
(b) 49x2-3x+2
(c) 49x2+2
(d) 59x%+2

If x varies as yz, then y varies inversely
as

(3)

CRE

(b)

®iw

(c)

@

If the points P and Q represent real
numbers (-73 and 0-56 on the

number line, then what is the distance
between P and Q7

1
(a) 3

(b)

Ly |

16

© 25

11

@ 35

9

26,

27.

28.

What is the point on the xy-plane
satisfying 5x+ 2y =7xy and
10x +3y=8xy?

1
®) (“- 3)

| |
®) [a= ‘l)

(c)

d (_1 1
@ k.,g,_)

The price of an article X increases by
20% every year and price of article Y
increases by 10% every year. In the
year 2010, the price of article X' was
T5000 and price of article Y was
T2000. In which year the difference in
their prices exceeded Y5000 for the
first time ?

(a) 2012
(b) 2013
(c) 2014
(d) 2015
The ratio of speeds of X and Yis 5 : 6.
If Y allows X a start of 70m in a

1-2 km race, then who will win the
race and by what distance ?

(a) X wins the race by 30 m
(b) Y wins the race by 90m
(¢) Y wins the race by 130m

(d) The race finishes in a dead heat

A - PLKI-T-MTK
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29.

30.

31.

32.

Iy T e i AR W AR g
T & 5 km/hr w57 @1 Mg, 300 km
a1 g T A I8 TR QY e w
THE o9 ot © Ild dqe | amE
T | T U Tg Ugadl § | SonTmet
g T () TR 7

(a) 50 km/hr

(b) 40 km/hr

(c) 35 km/hr

(d) 25 km/hr

afz 6 gew 3R 8 wfeemd & FW H

10 R # & @ §; oK 13 T
3R 24 #igemd @t Fm W4 A F @
R ¥, A s fer g
for 7m0 Fm = o foF 7w wfeen g
e o Fm |, e F R ?

(a) 2:1

(b) 1:2
{c) 4:3

(d) 3:4

T w1 ¥ o w e H uE g9
qean aret ufewat 3 fasma smar 1 Al
A% dfts # et f e 2 W @
St &, ar aferat 6 wer 3 w0 B S
2| ok vA= dfts & oEl B e 4
@1 & Wt g, o iRl i wen s W
B St @ | e 3 oEl & den feaA
27

(a) 100

(b) 105
() 110

(d 120

T gAY @ 2 a6t & forw us fag &
¥ YR A R I T R | Ak @
1% e &S @ °§ SN WA
ST, O W W 24 79 e g A
gt femeet & 2
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33.

34.

(a) T500
(b) T600
(c) 800
(d) 1200

QWA F IS FE 1525 K
2600 | T Te WA H [ @
SEE & wieanst f swEen &
HIITT 27 : 34 R FR R AT # qoNT H
e & Aigenst f e @
U 6:7 %,?ﬁ‘-’ﬁaﬁﬂﬁiiﬁf
SHaEd ®t fhame, qei i SEEen
&1 wfgesit § STEen ¥ dqIT =@
27

33

@ 77
85
82
71
90

®)
©)

3
@ <

Te we A ol A den w1 a5

# @@ ® ANG 3:4 B | wEW A

faenf¥at &1 siwm wg 4.6 Pre d | afe

T AZH 1 A Fg 48 fe R, |

T § Sl o dea e TR ?

(a) 4-2hE & TH

) 429 ¥ 3 Afm 4.3 Bz A
&H

(c) 43R ¥ s afFT 44 die |
+H

(d) 449 ¥ 3fts afF 45fe @
$H
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29.

30.

31.

32.

A train takes two hours less for a
journey of 300km if its speed is
increased by 5 km/hr from its usual
speed. What is its usual speed ?

(a) 50 km/hr
(b) 40 km/hr
(¢) 35 km/hr
(d) 25 km/hr

If 6 men and 8 women can do a piece
of work in 10 days; and 13 men and
24 women can do the same work in
4 days, then what is the ratio of daily
work done by a man to that of a
woman ?

(a) 2:1

(b) 1:2
(c) 4:3
(d) 3:4

Students of a class are made to sit in
rows of equal number of chairs. If
number of students is increased by 2
in each row, then the number of rows
decreases by 3. If number of students
is increased by 4 in each row, then the
number of rows decreases by 5. What
is the number of students in the class ?

(a) 100
(b) 105
(c) 110
(d) 120
A sum was put at simple interest at
certain rate for 2 years. Had it been
put at 1% higher rate of interest, it

would have fetched ¥24 more. What
is the sum?

11

33.

34.

(a) T500
(b) 600
(c) 800
(d) 1200

The population of two villages is 1525
and 2600 respectively. If the ratio of
male to female population in the first
village is 27 : 34 and the ratio of male
to female population in the second
village is 6:7, then what is the ratio
of male to female population of these
two villages taken together ?

33

@ 7

85

® &

71

(c) %

5
@ 3

In a class room the ratio of number of
girls to that of boys is 3:4. The
average height of students in the class
is 4-6 feet. If the average height of the
boys in the class is 4-8 feet, then what
is the average height of the girls in the
class ?

(a) Less than 4-2 feet

(b) More than 4-2 feet but less than
4.3 feet

More than 4-3 feet but less than
4.4 feet

More than 4-4 feet but less than
4.5 feet

(c)

(d)

A - PLKI-T-MTK
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35.

36.

37.

T (22) 3,5,9,4, 6, 11, 18 H Arfer
(ffmm) = & ?

(a) 6
(®) 65
(c) 7
@ 75
TF gaRE | W dae € | af? A9l &

HT H I 1:2:38, MEEq =R
WX TRT AT ?

(a) 200°
(b) 180°

(c) 150°

(d) 120°

Fiafe geate & Sew @ frel wen
% sftemew il & 250 ¥ 50 § wgA
fer mar & | e st F SeEEw A 170
¥ IR Fraam oiF 70 ¥ | s
TATEA | Io9aH AR <AaH WTH &
a9 & IR e @ 2

(@) 15

(b) 17

(c) 20

(d) 24

PLKI-T-MTK - A

12

AnTET oW (03) weAT & foo fdar .

frfofea g =t aijg ok s o A
?ﬁ’f‘ﬂﬁﬂ?ﬁ(ﬁﬁm

frrafafas s = 2010 # @ s=Fr-3Em
St A, B,C,D,E3#RF ¥ 3R v Aftdt &
e () i fefm = € R A
F: o &t sty ot it (), PR s

Fay § A Qe a1 gt whreor ww
e (1) R o st foriem (@ele) &
W W BT (Z) |
X Y Z

A 86 45 25

B 1305 | 903 | 461

C 2019 940 474

D 1166 869 | 416

E 954 544 | 254

F 1198 | 464 174

38,y vt & srfterem sk orgam
(7w widuaan areft St o &

(@ F3RD
(b) D3R F
() C3IRA
(d D3R A

39. wfufem At v sftmaw e =«
areh 3 8

(a) F

(b) D
(c) B

(d A
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35. What is the median of the data 3, 5,
9 4,6, 11, 187

(a) 6

b) 65
© 7

d 75

36. In a pi-diagram there are three sectors.

If the ratio of the angles of the sectors
is 1:2:3, then what is the angle of
the largest sector ?

(a) 200°
(b) 180°
(c) 150°

(d) 120°

37. The maximum marks in a Test are
converted from 250 to 50 for the
purpose of an Internal Assessment. The
highest marks scored were 170 and
lowest marks were 70. What is the
difference between the maximum and
minimum marks scored in the Internal

Assessment ?
(@) 15
®) 17
() 20

(d) 24

13

Directions for the following three (03)
items :

Read the following information and answer
the three items that follow :

The following data presents count of
released convicts who have served prison
terms (X), those who have received some
educational or technical training during their
term (Y) and those who were offered
Company placement (Z) respectively, from
six different jails A, B, C, D, E and F, in
the year 2010.

X Y Z
A 86 45 25
B 1305 903 461
C 2019 940 474
D 1166 869 416
E 954 544 254
F 1198 464 174

38. Jails with highest and smallest percent-
age of trained convicts are respectively

(a) F and D
(b) D and F
(¢) Cand A

(d) D and A

39. Jail with highest placement rate of
trained convicts is

(@) F
(b) D
(c) B

d A

A - PLKI“E-MTK
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40.

41.

42.

43,

¥ o, fomw wfafém SifEl § @ sm
§ ot e W ARG (W) &
WEE WE B R, €

(a) A, B3R C

(b) A, B 3R D

(©) A, D3R E

(d) A, E3RF

W st ot ot wend (st s
fm g) et €= 79 wrow & 3k
ITF FH T OFH I W N w o
7% Wrsg § 7

(a) &

(b) i

(¢} I

(d =

x 3R y & 5 s 7w € &
FHIGW 5x+ 9y =7 N A< FQ ¥,
S8l 500 < x < 500 3K -500 < y < 500
7

@ 110

(b) 111

(©) 112

(d) SuF # ¥ B A

wm AR f xvz 3-s (da s
H & wE ¥ | 79 MY §=XvZ +
YZx +zxy ¥ | frafafea & @ aw
q/q FuT wE g /E

1. S ¥ 3 3R (X+Y+2Z) ¥ wrw
2.5 W 9 ¥ W R

.S U 37 W W B

PLKI-T-MTK - A

44,

45.

= fir 7w % &1 W@ | 7 IR
3

(a) wae |

(b) Fae 2

() 1 3R 2

(d) 1 3R 3

fet ffvm 0 & @ = F forg,

XIR ¥ & sea afwat 4:5F s
FR 1R T Tm R R X, Y R

e 45 e s S 3, D vy +

96 Taed a% TGt A feam e
T 7

(a) 135 fome
(b) 150 e
(c) 180 fime

(d) 225 fame
gt 1 Noot & a5 ek
AR P § | T QNS0 H EHAF
ey |1y g ?

(a)

‘D} |8

)

_—
[
=

b
R

(c)

|~u |

(d)

—
]
(%

—
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40.

41,

- 42,

43.

Jails from which more than half of the
trained convicts are offered jobs, are

(a) A, Band C
(b) A, Band D
(c) A, D and E

(d) A, E and F

The number of three digit numbers

(all digits are different) which are
divisible by 7 and also divisible by 7
on reversing the order of the digits, is

(a) Six

(b) Five

(¢) Four

(d) Three

How many integral values of x and y

satisfy the equation 5x + 9y =7, where
=500 <x <500 and -S500 <y <5007

(a) 110
(b) 111
(c) 112

(d) None of the above

Let XYZ be a 3-digit number. Let
S=XYZ+ YZX+ZXY. Which of the
following statements is/are correct ?

1. 5 is always divisible by 3 and
X+Y+2)

2. § is always divisible by 9

3. § is always divisiblé by 37

45.

Select the correct answer using the
code given below :

(a) 1 only
(b) 2 only
(c) 1 and 2

@ 1 and 3

. In covering certain * distance, the

average speeds of X and Y are in the
ratio 4 : 5. If X takes 45 minutes more
than Y to reach the destination, then
what is the time taken by Y to reach
the destination ?

(a) 135 minutes

(b) 150 minutes -

(c) 180 minutes

(d) 225 minutes

For two observations, the sum is .S and
product is P. What is the harmonic
mean of these two observations ?

(a) —
(b) @P)
©) =

d) 7o

A - PLKI-T-MTK
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46.

47.

. 48,

R x & s 3w ¥y f affs 3w

A20% A=m g, A rAamx
IMApYh TR Ip R AT TG ?
(a) 10

(b) 16%

) 174
@ 20

W e oof & den W @ W
3,4, 5 637 A 9=a 2?7

(a) 1764

(b) 17640

(c) 44100

(d) 176400

ot T o 3 D P § | AR o

- framE @ @ S d@ S @ gt

49.

W F 20 fiFe o ¥ | ARk S e
oM & dien se A e 30 fime #
et Bh | AR e g P R
Qe S7C | &R B Gl 2§ e
R T ?
(a) 30 firFe
(b) 40 fiFe
(c) 50 e
(d) 60 fre

R (2 - 1), ot +br3+ex +dxte T
rEs &, o feafafea & ¥ 2w @
T e E 7

(a) a+b+c=d+e

(b) a+tbt+te=c+d

(c) b+ctd=a+e

(d) a+cte=b+d

50.

51.

52.

53.

g (x“+xiaj=4? g a (x6+iﬁ] &

X

us uften we e # 360 aR T ¥ )
T e # 7 ufewr fraw deaw g
22

(a) 47

(b) 6n
() 127

(d) 16z

(25 cosecZx + sec?x) N AT AW T
R ? |
(a) 40

®) 36
©) 26

(d) 24
= e fF 0 < 6<90° AR

1000 =90° & | AR & = [1%%, cotno ¥,
A fffe i davma e adt 2 ?

(@) a=1
®) a=0
) a>1

@ 0<a<l

PLKI-T-MTK ~ A 16
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ﬁ.

47.

48.

49,

If the annual income of X is 20%
more than that of Y, then the income
of Y is less than that of X by p%.
What is the value of p?

(a) 10
(®) 16%

(c) 174

(d) 20

What is the least perfect square which
is divisible by 3, 4, 5, 6 and 7 ?
(a) 1764

(b) 17640

(c) 44100

(d) 176400

In a water tank there are two outlets.
It takes 20 minutes to empty the tank
if both the outlets are opened. If the
first outlet is opened, the tank is
emptied in 30 minutes. What is the
time taken to empty the tank by second
outlet ?

(a) 30 minutes

(b) 40 minutes

(c) 50 minutes

(d) 60 minutes

If (2—1) is a factor of
ax4+bx3+cx2+dx+e,

then which one of the following is
correct ? '

(a3) a+b+c=d+e
(b) atbte=c+d
(c) b+c+d=a+e

@) a+c+e=b+d

50. If(x'1 +is] =47, what is the value of

51.

x.

6 1)
M+—|9
[ xt)

(a) 36
®) 27
(c) 18
d) 9

A wheel makes 360 revolutions in one

- minute. What is the number of radians

it turns in one second ?
(a) 4n
(b) 6z
(c) 12=
(d) 16x

82, What is the least value of

(25 cosecZx + sec?x) ?
(a) 40 |
(b) 36

(c) _26

(d 24

Let 0<0<90° and 1008 =90°. If
o =[1%°, cotn8, then which_ one of

n=l

- the following is correct ?

(a a=1
b a=0
) a>1
(d 0<axl

A - PLKI-T-MTK

https://www.pygonline.com



54,

53.

56.

ﬂﬁtan69=cot29,31'ﬁ 0{69%%%,

T sec 4 AR T ?
@ +2
(b) 2

2
(c) T

4
(d) 3

15 m 391 TF 99 T91 9o 8 39 IR
zean & o sEa ofd sfty () &
2 AR T F G919 30° T H07 T4 L |
a9 & 39 fog & Frd foreelt @ ot @
TR ?

(a) 10m

(b) 7m

(¢) 5m

(d 3m

T qHad 89 ¥ 9 FEhR 1M o
WA 100 Fe P = E) A
AR & I 40 Bz | 6 B
(3T) & @ W A AR F 9 R

Wed T W R 39 YER @1 &

A AR F i iR @% =1 o
dEmwE | ok O dar @ R
Q75 B}, @ @ AR H S
(emmmr) ferertt & 2

(a) 85 $Ie
() 110 $ie
(c) 125 e
(d) 140 62

PLKI-T-MTK - A

57. O HAR & 0 & p AR ¢ A g0 W 3R

58.

59.

w @ e i R R e @
AR & ofid & IwaT s w270
IREIE | MRBVIAE T2 ?
(a) pg

(b) v pg

(c)

R

~ (5]
=]

(d)
sin%6° + sin12° + sin®18° + ... +
sin?84° + sin?90°, FT WA T § 7
(a 1
(b) 2
(c) 4

(d 8

cosf N 1
1+sin@ cot8’

fred o 2 7

(a) cosech

(b) sec@

(c) secB+ cosecH

(d) cosec@®- cotd

https://lwww.pygonline.com



54.

55.

If tan 66 = cot 26, where 0{69{%,

then what is the value of sec 407?

(@) 2
(b) 2

2
(c) B

4
@ 3

A tree of height 15m is broken by
wind in such a way that its top touches
the ground and makes an angle 30°
with the ground. What is the height
from the ground to the point where tree
is broken ?

(a) 10m
(b) 7m
(c) 5m
(d 3m

On a plane area there are two vertical
towers separated by 100 feet apart. The

shorter tower is 40 feet tall. A pole of |

length 6 feet stands on the line joining
the base of two towers so that the tip
of the towers and tip of the pole are
also on the same line. If the distance
of the pole from the shorter tower is
75 feet, then what is the height of the
taller tower (approximately) ?

(a) 85 feet .
(b) 110 feet
(c) 125 feet
(d) 140 feet

19

57.

58.

59.

The angles of elevation of the top of
a tower from two points at distances
p and g from the base and on the same
straight line are 27° and 63° respec-
tively. What is the height of the tower ?

(@) pq
(b) pg

c) &
2

w2

What is the value of

sin26° + sin212° + sin%18° + ... +

sin284° + sin?90° ?
(a) 1
(b) 2
(c) 4

(d) 8

cos@ 1
1+sinf cotf

What is equal to ?

cosecd

()

secf

(b)
(c) secO+ cosecf
cosec — cotd

(d)

A - PLKI-T-MTK
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60. sinf-cosf+1 sinf+1 N

61.

62,

63.

sin@+cos@—-1 cosO ’

27

(@ 0

(b 1

(c) 2sinf
(d) 2cos8

(tan x + tan y)(1- cot x cot y) +
(cntx+cnty){l—lanxtany),ﬁv‘ﬂﬂi
TWEL 2 7

(@ 0

(b) 1

(c) 2

(d) 4

secx—tanx
— — A FuR R ?
secx+tanx

1
sinx +cosx
1
tanx+cotx
1
secx+tanx

1
cosecx+cotx

(a)

(b)

(c)

(d)

afs 6, yam =galyr ¥ amar & sk
cot9=?-g- 2, @ (sinf + cosf) F AH
w7

(@) 1

69
(b) P

79
(c) P

(d) 2

PLKI-T-MTK - A

64.

65

66.

A einl 2
1 .2;51n 9(:045 9+4,ﬂﬂmﬂﬁ7ﬂ%
sin” 8@+cos” @

TR B 7

(a) 0

(b) 1

(c) 2

@ 5

. U 3(4d 48 cm &€ 3R 14cm AT R |

afe foal, <3t arelt o F wg Do 9
sAET B, (sec + cosec®) forees
WER & ?
775

@ T8

725

®) T6s

375
©) g4

325
(d) 84
30 Propst =1 gt wn @ forhy syomaii
Eﬁ]‘aa'[g I,q.i’ £+£’ £+£ % ?

Z X x Yy y z

2
@ (x+x};:z}
© 57t
@ xy+:;z+zx
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60. What is

. 6l

62.

sin@—-cos@+1 sinf+1

sinf+cosf—1 cos@
equal to?

(a) 0
(b) 1
(c) 2sinf
(d) 2cos8

What is (tan x + tan y)(1- cot x cot y) +
(cot x + cot y)(1- tan x tan y) equal to ?

(a 0
(b) 1
(c) 2
(d 4

secx —tanx
secx +tanx
1
sinx +cosx
1
tanx +cotx

1
secx-+tanx
1
cosecx+cotx

What is equal to ?
()
(b)

(c)

(d

If @ lies in the first quadrant and
cm&:%, then what is the value of

(sinf + cosd) ?
(8 1
69
®) o

79
() 7

(d) 2

64.

65.

What is the value of
1-2sin? B cos’ 8
sin* 8 +cos* 6
(a) 0
(b) 1
(c) 2
(d) 5

+4 equal to?

A rectangle is 48 cm long and 14 cm
wide. If the diagonal makes an angle 6
with the longer side, then what is
(sec@+ cosecf) equal to ?

775
@ Teg

725

®) 168

375
(c) m

325

@ 84

What is the area of the triangle having

side lengths —+—, —+=, =+=7
zZ X x Yy y z

(J:+y+.=.')2

(a)

A - PLKI-T-MTK
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67.

68.

69.

Rk = P ¥ o 300 Ak 450 &
AR T swla (wdfe) W B
v (V3+1)em 8, @ P

@ 2(V3+1) em?

ABCD, Wit qHT & AHR & T
o | @1 EF, @1 DA S §HaT § 3R
fait 4C 3R BD & wfe=ag fag 0@
TR ol ® | s dfaftw, E, DC
RRRAtiRFABRRE | we
ABCD # ¥ P R DOE wren
TR e % W N o R W
BT H QU W F e § I
e -

(a)
(b)
(©)

(d)

o~ Bt ~J|th OB tha

20 cm R 16 cm it Proarat 9t 9 39
TE R A Fed § R wdfss sira
sard 24 cm ¥ | At 9 I F A
& g 4 &, O frafofle & @ < @

@WER?

PLKI-T-MTK - A

22

70.

71,

72.

(a) d<26cm
(b) 26cm<d<27cm
(¢) 27cm<d<28cm

(d) d>28cm

5ecm & Bewr 9@ w99 H, @
Sard 4B 3R 4C T weR ¥ &
AB=AC=8cm % | Siia1 BC I &g
TR

(a) 9cm

(b) 92cm

(c) 96cm

(d) 9-8cm

2 99 ks &1 A e w & | I
ga6dl & A% 136mem? ¥ 3R
SF el & dE WP 4om g IH
ot Preand = & 2

(a) 11 cm, 7 cm

(b) 10 cm, 6 cm

(¢) 9 ¢cm, 5 cm

(d 8 cm, 4 cm

R g9 AR T & SAm TR
7, @ 3% uRmmat &1 e v @ 2

(a)
(b)

(c)

B

d
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67. If the angles of a triangle are 30°

and 45° and the included side is
(\ﬁ +l) cm, then what is the area of
the triangle ?

(a) (Ji+1) cm?
(b) (w@ +3) cm?
© %(\6 +1) om?

@ 2(v3+1) cm?

68. ABCD is a plate in the shape of a

parallelogram. EF is the line parallel
to DA and passing through the point
of intersection O of the diagonals AC
and BD. Further, E lies on DC and F
lies on AB. The triangular portion DOE
is cut out from the plate ABCD. What
is the ratio of area of remaining portion
of the plate to the whole ?

(a

o0 | L

fun

(b)

(c)

| w

a2
@ 7
. Two circles of radii 20 cm and 16 ¢cm
intersect and the length of common
chord is 24 cm. If 4 i1s the distance

between their centres, then which one
of the following is correct ?

23

70.

71.

72.

(a) d<26cm

(b) 26cm<d<27cm

{(c) 27ecm<d<28cm

(d) d>28cm

In a circle of radius 5cm, AB and
AC are two chords such that

AB=AC=8 cm. What is the length of
chord BC?

(a) 9cm

(b) 92cm

(©) 96cm

(d) 9-8cm

Two circles touch intemnally. The sum
of their areas is 1367 cm? and distance

between their centres 1s 4 cm. What are
the radii of the circles ?

(a) 11 cm, 7 cm
(b) 10 cm, 6 cm
(c) 9cm, 5 cm
(d) 8 cm, 4 cm
If area of a circle and a square are

same, then what is the ratio of their
perimeters ? '

() 2V
(b) vr
(c) g

T
@ ==

A - PLKI-T-MTK
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73.

74.

8 cm =ATH AT Teh I 36 UK @n 1l
2 & a8 O WeR o9 W@Ei @ 'y
w=a & | R s s afes o 39
fe = ¥ 3@ weR T T ¢ T A
A1 Y@ 3R gu & e W) )
BRI WA TR ?

(a) 4(3-+2)cm
(b) 4(3-2+2)cm
(c) 8(3-+2)cm
(d) 8(3-2+2)cm

& Ao it AErd 1 e R, 56 Ao R
wafa e 3 iz ok 3= 7 de
2 | wdh aks wqg B W * fag
Tt o= fadm @1 & uw e wE
FEEEA Bt § | T e A oa
qael & SH WA W F g T Hr
foraht 7 Y IEwEaT ® 7

.
(a) gﬁ‘-ra

3
(b);ﬁm

. 8
_(c)gﬁ“ﬂi

15,

10
@ 7 farex

T Ff AR 0F A F @A SR
) aR s H ™ B owEd
HeaTes & ¥ @ it T sen f F46n
F ot & oauag B, A agg H AN

(qEdt) spom & wHaé gt

" PLKI-T-MTK - A
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76.

(a) ot f qon Fi ward T T
(b) =t & S fi =TS F I |
(c) T (THa) warg <l

(d) = RN qon A = K g

TF g o werd @R e, 4:3 %
sava # € | @ ot & fewat ok =@t
oo @ w4 9 B % s &,
foamt & femd 3R @G Yo & IR
am B & v, ¥ au feamn
27

(a) 3:4

(b) 4:3

‘(c) 16:9

77.

(d 1:1

am it 5 30 fre Powm ™ @
T &7 ¥ 20° 7 & R (Preawz)
BTG U &7 AT T 8 | 39 A &
BT TR ?
(@) 1507 T e
(b) 550r = HE
(c) qso::aﬁ'tﬁz

(d) 8507 @ Hie



73.

74.

75.

A circle of diameter 8 cm is placed in
such a manner that it touches two
perpendicular lines. Then another
smaller circle is placed in the gap such
that it touches the lines and the circle.
What is the diameter of the smaller
circle ?

(a) 4(3-+2)cm
(b) 4(3-242)cm

() 8(3-+/2)cm
(d) 8(3-22) em

The thickness of a cylinder is 1 foot,
the inner radius of the cylinder is 3 feet
and height is 7 feet. To paint the inner
surface it requires one litre of a
particular colour. How much quantity
of the same colour is required to paint
all the surfaces of the cylinder ?

7

— litre
(a) 3

3

= litre
®) 1

8
— litre
© 31

10
— litre
@ 3 b

A square and a rectangle have equal
areas. If one side of the rectangle is
of length numerically equal to the
square of the length of the side of the
square then the other side of the
rectangle is ‘

25

76.

T1.

(a)

square root of the side of the
square

(b) half the side of the square

(c) of unit length

(d) double the side of the square

The length and breadth of a rectangle
are in the ratio 4 : 3. Then what is the
ratio of the area of the triangle formed
by the parts of the diagonals with a
long side to the area of the triangle
formed by the parts of diagonals with
a short side ?

(a) 3:4
(b) 4:3
(c) 16:9

(d) 1:1

Suppose a region is formed by
removing a sector of 20° from a
circular region of radius 30 feet. What
is the area of this new region?

(a) 1507 square feet
(b) 550m square feet
(¢) 650m square feet

(d) 8507 square feet

A - PLKI-T-MTK
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78.

79.

80.

ABCD & @R vqw &, fmd 4C
#R BD Tt & | ok £BAD =600,
ZADB=90° &, @ BD? f&ud SR
27

@) 348

3 2
(b) EAB
|
(c) EAB
(d) %AH2
TF HAR 9qUS ABCD & 3fid 4 @
gt 7 @& Y@ DC @ PR fiwdh B
iR 7% @1 TgA W BCA 9 R et
21 3Rk p, DC W wafag ¢, @
frafafas & @ a9 @/8 == W@
2/2 7
1. APDAF 89%d, APCOF 8FA
F T E
2. AQAB =1 &F%d, APCQO & 8%
& TR
A= e T g T oW W A Iw
g .
(a) Faw
(b) &9« 2
(c) 13R 22l
(d) Fa@L,TE2
I-4mﬁﬂT3ﬂI5mTl'$TI£?fmTt{E§3ﬁ
(Fm) e & forg fram v v foredh
areHAt w2
(a) 302 ¥ #Hix
(b) 304 w° i
(c) 30-6 ¥ HX
d) 30-8 T Hix

PLKI-T-MTK - A

81.

82.

83.

84.

fe g & ot xRy &, A
IHHT 86 T § ?

@ >

®)

(c) xy
d) 22—

w P & gt B et
31,4\/;,5% &, et 3x{4\/;*‘~‘5?(/;
21k P w1 @@ wiv 900 B, @
X, y, z & AGR QUi A FHA: w4
g7

(@ 1, 2,3

(b) 2, 3, 4

c) 1,1, 1

(d) 3,4, 5

@& e & aifte ¥ aftes e afge
2§ 7

(a) 1

(b) 2

(c) 3

(d) I

g 6 cm Brear 9w 39 & B 9w
30° & FE A IEia w R, @
I A9 & TS o e 2
(a) 314 cm

(b) 2-15 em

(c) 214 ¢cm

(d) 2 em
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78. ABCD is a parallelogram where AC

79.

and BD are the diagonals. If
£LBAD = 60°, ZADB = 90°, then what
is BD? equal to?

3 1
~AB
@ 3

3 m2
(b) 748

1 2
AB
(c) 2

2 .2
— AB
(d) 3

A line through the vertex 4 of a
parallelogram ABCD meets DC in P
and BC produced in Q. If P is the
mid-point of DC, then which of the
following is/are correct ?

1. Area of APDA is equal to that of
APCQ

2. Area of AQAB is equal to twice
that of APCQ

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

How many cubic metre of earth is to
be dug out to dig a well of radius 1-4 m
and depth 5m?

(a) 30-2 cubic metre
(b) 30-4 cubic metre
(c) 30-6 cubic metre
(d) 30-8 cubic metre

27

(@ -

83. What

81. If the diagonals of a thombus are x and

y, then what is its area?

ol
®

(c) xy
(d) x2-)?

82, The lengths of sides of a triangle are

3.1:,4\{;,53\/5, where 3x<4\{;{5 iz.

If one of the angles is 90°, then what
are the minimum integral values of
X, ¥, z respectively ?

@ 1,23
(b) 2, 3,4
© 1, 1,1
(d) 3,4,5
is the maximum number of

circum-circles that a triangle can
have ?

(a) 1
(b) 2
(c) 3
(d) Infinite

84, If an arc of a circle of radius 6 cm

subtends a central angle measuring
30°, then which one of the following
is an approximate length of the arc ?

(a) 3-14 cm
(b) 2-15 cm
(t) 2-14 cm
(d 2 cm

A - PLKI-T-MTK
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8s.

86.

87.

@l T ? % 98 0 §AR W 4.8 m A
forg o el & ok @ WG S
I feemg famr @ A At ( )
W@Wﬁg%mﬁ-{%a—qﬁl“;m
frerdt 2 7 .

(a) 58 m

(b) 6 m

© 62 m

@ 75 m

T 3 B & v gaeR i # @
FIA T T T HER B TR e
w4 = Tt

207 ot o

0 st

@ 2 e

r Brem anlt 4 TOm mﬁaﬁﬁ
3 ¥} R T WA TG TR @ T
2 | <eft g @ T W @ TER @
1 & % ag Wi wsh et A F wd
wt € | N i F F H wwHaw @
I

(@ 2 %rm

PLKLT-MTK — A
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88.

89.

9(.

b g 1%
-3 of w9 F ofmg =@ ¢ | AR
NoF & TR SAET p AR AT
IFYDBE GART ¢ 8, W Feaffea 7 &
e

@ p=g

®) p - 2

© 2pma

@ 2 = 3

ABCD @ wgdw m veR & f
AD = DC = CA = 20 5&18, BC = 12
zad 3R LABC = 90° ® | wqdw
ABCD &1 gawa e e 2 2
@) 269 7wk

O ot o

() 325 ¥t

O

. &\\\\\\\\\\\\\\\\W\\\\\\\

7 @ & 9em .
F =A™ PORS &1 PO, OR ¥R RS
TWER da1E F § | 05 N 8 AR &
afga o T & (Shr fF sma #
feramar @ ) R
ﬁﬂ%agmwmﬁ%?

(a) 25: 121

) 5: 13

© 518

@ 1:2
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85. A ladder 5 m long is placed in a room

s0 as to reach a point 4-8 m high on
a wall and on turming the ladder over
to the opposite side of the wall without
moving the base, it reaches a point
1-4 m high. What is the breadth of the
room ?

(a) 58 m
(b) 6 m

(c) 62 m
(d 75 m

86. What is the area of the largest square

plate cut from a circular disk of radius
one unit ?

(a) 4 square units

(b) 242 square units
(c) = square units

(d) 2 square units

Out of 4 identical balls of radius r,
3 balls are placed on a plane such that
each ball touches the other two balls.
The 4% ball is placed on them such that
this ball touches all the three balls.
What is the distance of centre of 4th
ball from the plane ?

(a) ZE r umt

_JE * Zﬁ r unit
NE)

r

3-2+2

J3+242
‘_._,JE ru

(b)

unit

(©)

(@ nit

29

88.

89.

90.

A right circular cylinder just encloses
a sphere. If p is the surface area of the
sphere and g is the curved surface area
of the cylinder, then which one of the
following is correct ?

(@ p=g

® p=2

) 2p=g4

(d) 2p = 3q

ABCD is a quadrilateral such that
AD = DC = CA = 20 units, BC = 12
units and ZABC=90°. What is the
approximate area of the quadrilateral
ABCD ?

(a) 269 sq units
(b) 300 sq units
(c) 325 sq units
(d) 349 sq units

Let PORS be the diameter of a circle
of radius 9 cm. The length PQ, QR and
RS are equal. Semi-circle is drawn with
QS as diameter (as shown in the given
figure). What is the ratio of the shaded
region to that of the unshaded region ?

(a) 25:121
(b) 5:13
(c) 5:18
d 1:2
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x
AMxFTaAA L ?

2 W g & ofm & =1 e

e &, afe wds 9w $ Brew 2em (a) 45°
27 |
(@) 443 -27cm’ (b) 30
(b) +3-mem? © 15°
(© V3-Zom?

2 (d) 10°

(d) 27-243cm?

92.

94. ABCD TS ¥fm (wweiw) 2, wel
AB, DC S owik & | af 4B=4cm,
BC=3cem, CD=7cm N DA=2cm

| | 6 units

" 63 units

2, @ Yhifew & dewa W R 2

6 units

': V97 |2 om?

fo u s #, eifym 8w = o (b) Zzgsmz

fram g ?
(8 9(m-+3) = wwrd

(©) 2243 em?

() 3(4n-33) = =

©) 33n-4+3) af mﬁ 2 i,
@) 9(3-m) ¥ T (@ =5~ om
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92.

What is the area of the shaded region
in the given figure, if the radius of each
of the circles is 2 cm?

(@) 43-2mcm?
®) 3-mem?

(c) V3- % cm®

(@ 27-243cm?

6v3 units

6 units 6 units

@

In the given figure, what is the area
of the shaded region ?

() 9(m—-+/3) sq units
(b) 3(4m-3+/3) sq units
(¢) 3(3m-4+3) sq units
(d) 9(@—7;) Sq units

93.

94.

x F 4

- L
- >

In the given figure, if%zﬁ and %=5,

then what is the value of x?
(a) 45°
(b) 30°
(c) 15°

(d) 10°

ABCD is a trapezium, where AB is
parallel to DC. If AB=4 cm, BC=3 cm,
CD=7cm and DA =2 cm, then what
is the area of the trapezium ?

https://www.pygonline.com

(a) ZZ\E cm’ |
(b) zz\g cm?

(c) 223 cm?

242,

@ == em
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fu T k@ ¥ PO, RS ¥ W
%, LAEF=95°, /BHS=110° ¥R
ZABC=x°R, A x AR T & ?

(a) 15
(b) 25
{c) 30
(d) 35
A ¥ |
LI L2+ LI+ LA+ L5+ L6+ LT+ £8 97. H
FTAR TR ? v \
A\AT \ B
- : . ol
(a) 240° -
(b) 360° b
) ‘/E i‘:\ \gﬁﬂ T E
(c) 540° v
' G
(d) 720°
few mu anka #, 4B, CD % wAR £ 3K
AC, BDE otk & | IRt ZEAC = 400,
%6. P R - LFDG=55°, /ZHAB =x* &, @ x &1
0 ' LIS -
A _|E :
| ';T £ G (a) 85
7\}(} ’ (b) 80
ce—T7 Hfne
() 75
v v
Q § (d) 65
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95.

7 6

Angles are shown in the given figure.
What is value of £1+£2+/3+/Z4+

L5+ L6+ LT+ 287
(a) 240°
(b) 360°
(c) 540°
@) 720°
P R
A §

;:.‘?B
L — 7 100

ce | F
Jf v
0 s

In the given figure PQ is parallel to
RS, ZAEF=95°, ZBHS=110° and
ZABC = x°. Then what 1s the value of
x?

(a) 15
(b) 25
(c) 30

@ 35

H

A

A
Vs
In the given figure AB is parallel to
CD and AC is parallel to BD. If

LEAC=40°, ZFDG=55° LHAB=x°,
then what is the value of x ?

AV
\D
>F
\<55°
G
(a) 85
(b) 80

(c) 75

d) 65
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98. (3] 15-3 sz

B
(b) 25-5 cm?
(c) 284 cm?
ralE D 100. 5
fu ww @ #, FF A 99 4BC, AEF
IR CDFEIATRCEFIR A 4
28 T &, AR F, AC =1 wafag #
At gl &1 FA dane frae @ 7
o
(@) 924 a Tard
(b) 824 =W TS ’ ‘
fou m amm F wedt #, FeafifRe
(¢) 624 T TS Tt R fer $ifsw . .
1. AAOD 3 ABOC & &Gl
(d) 462 T wrd 4G AAOB 3R ADOC %
| EABAT &+ JITHA & SR ¢ |
99, 2. ZAOD = /BOC
3. AB+BC +CD+ DA > AC+ BD
8 cm
I | A BN A T w & ?
6 cm 6 cm :
(a) *9a 1 3R 2
8 cm
(b) Fae 2 3R 3
(c) ad 1 IR 3
R M ama #, @ & w e
e feam g 2 (@ 1,29K3
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98.

B
E D
In the given figure, there are three semi
circles ABC, AEF and CDF. The dis-
tance between 4 and C is 28 units and

F' is the mid-point of AC. What is the
total area of the three semi circles ?

(a) 924 square units
(b) 824 square units
(c) 624 square units

(d) 462 square units

Z >

8cm

6 cm 6cm

Bcm

N 4

What is the approximate area of the
shaded region in the figure given?

100.

(@) 153 em?

(b) 255 cm?
(c) 28-4 cm?
(d) 305 ¢cm?
B
A
()
D C

Consider the following statements with
reference to the given figure :

1. The sum of the areas of AACOD
and ABOC is equal to the sum of
the areas of AAOB and ADOC.

2. ZAOD= /BOC

3. AB+BC+CD+DA>AC+BD

Which of the above statements are
correct ?

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1,2 and 3
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